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Question 1 
 3  4 +
=  +  
=  +  
=99 +  
  
=  answer



Question 1b
 
= 
=
 ans













Question 1c

6 = 6
 +=6

 Multiplying both side by 12



18x+ 100 = 72 
18x + 100 – 72 = 0 
18x+28 = 0
18x = -28

Divide both side by 18 
 =

X =-149
 
X= answer


Question 2a

3(3-2)+4x=4
9-6+4x=4
3+4x=4
4x=4-3
4x=1 
X=  answer.


Question 2b 

4(2-5)3 + 6 
4(-3)3 +6
4(-27)+6
-108+6 
-102 answer 

Question 2iv

3  +  5

 
 
 answer










Question 3a
3.33
4.53
7.86
-2.00
5.86   answer


Question 3
        4.66
      4.33
      1398×
    1864××
    20.1778



20.1778
                                              +     5.32 
25.4978
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